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PA02CECO01 - Micro Economics 
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Notes:  Q.1 = 10 Marks 
  Q.2 to Q.5 15 Marks each. 
 

Q.1 Give answer of Multiple Choice Questions. [10] 
1. Total variable cost is some times known as _____ cost also.  
 (a) Main Cost  (b) Normal Cost (c) No any one of these two.  

2. By doing sum of total variable cost and total fixed cost _____  types 
cost can be seen. 

 

 (a) Total Marginal Cost   
 (b) Total Cost   
 (c) Total Average Cost  

3. By changing one unit in total cost change that occurs is called 
_____ cost. 

 

 (a) Fixed  Cost (b) Average Cost (c) Marginal Cost.  
4. Income which a firm gets from distribution of its products is called 

________ .  
 

 (a) Total Income    (b)  Marginal Income    (c) Average Income  
5. Aim of any products is to maximise ________ .  
 (a) Cost   (b) Profit  (c) No one of these two  

6. In perfect competition, each firm receives _________ of long term.  
 (a) Minimum Loss  (b) Unlimited Profit (c) Normal Profit  

7. Very first model of duopoly was developed in _______    
 (a) 1838  (b) 1839  (c) 1840  

8. In perfect competition unlimited profit of firm happens when ______ .  
 (a) Price is more than marginal cost   
 (b) Price is more than average cost  
 (c) Price is less than average cost  

9. Welfare Economics is generally divided in ______ parts.  
 (a) Four  (b) Three  (c) Two  

10. In Welfare Economics utility is measured in ______ .  
 (a) Number  (b) Money  (c) Goods  
   

Q.2 With the help of diagrams explain the characteristics of a long run 
average cost curve. 

[15] 

 OR  

Q.2 Explain the 'Shut Down Point' in Perfect Competition.  
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Q.3 Discuss Edgeworth's model of duopoly. [15] 
 OR  

Q.3 Examine the relation between AR and MR curves.   
   

Q.4 With the help of total Revenue and total cost curves, explain the 
short run equilibrium of a firm in perfect competition. 

[15] 

 OR  

Q.4 Describe the marginal productivity theory of distribution.  
   

Q.5 Explain the Recardian Theory of Rent. [15] 
 OR  

Q.5 Write notes on any two of the following :  

 1. Modern Theory of Rent  
 2. Cournot's Model of Duopoly  
 3. Quasi Rent  

 

 
NyS>fpsu sfS|>dp¡ 

 

_p¢^: (1) âï_ 1 = 10 NyZ 
(2) âï_ 2 \u âï_ 5_p NyZ kdp_ (15 NyZ) R>¡.      Ly$g NyZ: 70 

 

â.1 blzrhL$ë`ue âï_p¡_p S>hpb Ap`p¡. (10) 
1. Ly$g A[õ\f MQ®_¡ L¡$V$guL$ hMs ........ MQ® sfuL¡$ `Z Ap¡mMhpdp„ Aph¡ R>¡.  

 A) dy¿e MQ®  b) kpdpÞe MQ®  L$) bÞ_¡dp„\u L$p¡B _lu„  
2. Ly$g [õ\f MQ® A_¡ A[õ\f MQ®_p¡ kfhpmp¡ L$fhp\u ...... âL$pf_p¡ MQ® Å¡hp dm¡ R>¡. 

 A) Ly$g kudp„s MQ®  b) Ly$g MQ®  L$) Ly$g kf¡fpi MQ®  
3. A¡L$ A¡L$d_p¡ a¡fapf \hp\u Ly$g MQ®dp„ S>¡ a¡fapf \pe s¡_¡ ....... MQ® L$l¡ R>¡.  

 A) [õ\f MQ®   b) kf¡fpi MQ® L$) kudp„s MQ®  
4. `¡Y$u `p¡sp_u `¡v$pip¡_u hl¢QZudp„\u S>¡ Ly$g D`S> d¡mh¡ R>¡ s¡_¡ ........ L$l¡ R>¡.  

 A) Ly$g AphL$   b) kudp„s AphL$ L$) kf¡fpi AphL$  
5. L$p¡B`Z DÐ`pv$L$_p¡ DØ¡i ......... dlÑd L$fhp_p¡ lp¡e R>¡.  

 A) MQ®    b) _ap¡   L$) bÞ_¡dp„\u L$p¡B _l]  
6. `|Z® lqfapBdp„ v$f¡L$ `¡Y$uAp¡_p¡ gp„b¡Npm¡ ......... âpàs \pe R>¡.  

 A) gOyÑd Mp¡V$  b) AkdpÞe _ap¡ L$) kpdpÞe _ap¡  
7. qÜlõsL BÅfp_y„ kp¥ â\d dp¡X¡$g B.k. ....... hj®dp„ rhL$kphhpdp„ Apìey lsy„.  

 A) 1838$   b) 1839  L$) 1840  
8. `|Z® lqfapBdp„ V|„$L$pNpmpdp„ `¡Y$u_p¡ AkpdpÞe _ap¡ ...... lp¡e Ðepf¡ \pe R>¡.  

 A) qL„$ds A¡ kdp„s MQ® L$fsp h^y  
 b) qL„$ds A¡ kf¡fpi MQ® L$fsp h^y  
 L$) qL„$ds A¡ kf¡fpi MQ® L$fsp Ap¡R>u  
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9. L$ëepZgnu A\®ip÷_¡ kpdpÞe fus¡ ....... cpNdp„ hl¢Qu iL$pe.  

 A) Qpf   b) ÓZ   L$) b¡  
10. L$ëepZgnu A\®ip÷dp„ s©rô$NyZ_¡ ....... dp`u iL$pe R>¡.  

 A) k„¿epdp„  b) _pZp„dp„  L$) hõsydp„  
   

â.2 ApL©$rsAp¡_u dv$v$ gB_¡ gp„bpNpmp_p kf¡fpi MQ®_p h¾$_u gpnrZL$spAp¡_y„ 
hZ®_ L$fp¡. 

(15) 

 A\hp  
â.2 `|Z lqfapBdp„ `¡Y$u_p DÐ`pv$_ b„^ L$fhp_p tbvy$_¡ krhõspf hZ®hp¡.  

   
â.3 A¡Sh\®_p qÜlõsL BÅfp_p dp¡X¡g_u QQp® L$fp¡. (15) 

 A\hp  
â.3 kf¡fpi AphL$ A_¡ kudp„s AphL$_p h¾$p¡ hÃQ¡_p kb„^p¡_y„ `qfnZ L$fp¡.  

   
â.4 Ly$g AphL$ A_¡ Ly$g MQ®_p h¾$p¡_u dv$v$ gB_¡ `|Z® lqfapBdp„ `¡Y$u_u V|„$L$pNpmp_u 

kdsygp_y„ hZ®_ L$fp¡.  
(15) 

 A\hp  
â.4 rhõsfZ_p kudp„s DÐ`pv$L$sp_p„ rkÙp„s_y„ krhõspf hZ®_ L$fp¡.  

   
â.5 fuL$pX$p£_p cpX$p_p„ rkÙp„s_y„ hZ®_ L$fp¡. (15) 

 A\hp  
â.5 _uQ¡ Ap ¡̀gdp„\u L$p¡B`Z b¡ D`f _p¢^ gMp¡.  

 A) cpX$p_p¡ Ap^yr_L$ rkÙp„s  
 b) Ly$_p£V$_y„ qÜlõsL$ BÅfp_y„ dp¡X$g  
 L$) Apcpku cpXy„$  
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